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	Q1. 
	In Four Stroke engine one Power stroke is obtained in how many degree rotations of crank-shaft 

	Option A:
	360 Degree

	Option B:
	720 Degree

	Option C:
	180 Degree

	Option D: 
	450 Degree

	
	

	Q2.
	Compression Ratio is the ratio of 

	Option A:
	clearance Volume to Total Volume

	Option B:
	Total Volume to clearance Volume

	Option C:
	Swept Volume to clearance Volume

	Option D:
	clearance Volume to Swept Volume

	
	

	Q3.
	Heat addition in Ideal Diesel cycle will take place at

	Option A:
	Constant Pressure

	Option B:
	Constant Volume

	Option C:
	[bookmark: _gjdgxs]Constant Energy

	Option D:
	Constant velocity

	
	

	Q4.
	In a typical medium speed 4-stroke cycle diesel engine the inlet valve

	Option A:
	opens at 20° before top dead center and closes at 35° after the bottom dead center

	Option B:
	opens at top dead center and closes at bottom dead center

	Option C:
	opens at 10° after top dead center and closes 20° before the bottom dead center

	Option D:
	may open or close anywhere

	
	

	Q5.
	Carnot engine working between 400 C and 40 C produces 130 kJ  of work the engine thermal efficiency is

	Option A:
	42.5 %

	Option B:
	53.5 %

	Option C:
	65.5 %

	Option D: 
	35.5 %

	
	

	Q6.
	Which is not the component of Magneto Ignition system

	Option A:
	Nozzle

	Option B:
	Contact Breaker

	Option C:
	Capacitor

	Option D: 
	Transformer core

	
	

	Q7. 
	To avoid the knocking tendency in SI engine time for Ignition Lag as compared to Flame propagation should be

	Option A:
	[bookmark: _gjdgxs]Maximum than Flame propagation

	Option B:
	Average

	Option C:
	same as flame propagation

	Option D: 
	Minimum than Flame propagation

	
	

	Q8. 
	Peak pressure is observed in Pressure- Crack angle (P-θ) diagram in which phase of Combustion of SI engine

	Option A:
	Chemical Delay

	Option B:
	Flame Propagation

	Option C:
	Ignition Lag

	Option D: 
	After Burning

	
	

	Q9.
	A device that limits the maximum amount of fuel that can flow through the discharge nozzle

	Option A:
	Main Metering Jet

	Option B:
	Air Bleed

	Option C:
	Carburetor Ice

	Option D: 
	Fuel Metering Head

	
	

	Q10. 
	The Bistarter is the unique device of the

	Option A:
	SU Carburetor

	Option B:
	Solex Carburetor

	Option C:
	Carter Carburetor

	Option D: 
	Acceleration pump

	
	

	Q11. 
	Main advantage of pintaux nozzle is

	Option A:
	Better cold starting performance

	Option B:
	Ability to distribute the fuel

	Option C:
	Good penetration

	Option D: 
	Good atomization

	
	

	Q12. 
	In CI Engine Knocking tendency increase with

	Option A:
	Decreases in compression ratio

	Option B:
	Increase inlet temperature of air

	Option C:
	Increase in compression ratio

	Option D:
	Increase coolant water temperature

	
	

	Q13.
	The advantage of Indirect Injection Combustion Chamber is

	Option A:
	Low Injection Pressure

	Option B:
	High Injection pressure

	Option C:
	Compact in Size

	Option D: 
	Good cold starting performance

	
	

	Q14. 
	Removal of air from the pipeline is termed as ____________ in injection system

	Option A:
	bleeding

	Option B:
	wound

	Option C:
	sweating

	Option D: 
	shivering

	
	

	Q15.
	A diesel engine has compression ratio from

	Option A:
	6 to 10

	Option B:
	10 to 15

	Option C:
	16 to 20

	Option D: 
	25 to 40

	
	

	Q16. 
	Most important property of the lubricant is

	Option A:
	Viscosity

	Option B:
	Density

	Option C:
	Thermal conductivity

	Option D: 
	Boundary friction

	
	

	Q17.
	Supercharging air compressor driven by

	Option A:
	Exhaust gas turbine

	Option B:
	Separate Electric motor

	Option C:
	Engine itself

	Option D:
	External drive

	
	

	Q18.
	Types of Supercharger are

	Option A:
	Centrifugal Type

	Option B:
	Gear Type

	Option C:
	Reciprocating Type

	Option D: 
	Rotary type

	
	

	Q19. 
	Turbochargers has_____________problem

	Option A:
	Turbo-Lag

	Option B:
	Ignition Lag

	Option C:
	Flame Propagation

	Option D: 
	Knocking

	
	

	Q20.
	Brake Power of an Engine is defined as

	Option A:
	Power produce inside engine cylinder

	Option B:
	Power loss in friction between moving parts

	Option C:
	Power available at the output shaft

	Option D:
	Power required for decrease speed of engine

	
	

	Q21.
	Calculate Heat Supplied by combustion fuel in Heat balance sheet if fuel 	consumption=0.0018kg/s, CV of fuel=43MJ/kg,Cooling water rate=0.44kg/s, water inlet	temp=30°C.

	Option A:
	77 KJ/s

	Option B:
	101 KJ/s

	Option C:
	92 kJ/s

	Option D: 
	39KJ/s

	
	

	Q22. 
	Which pollutant is emitted in less amount in petrol engine compared to diesel engine.

	Option A:
	CO (Carbon Monoxide)

	Option B:
	Particulate matter

	Option C:
	HC (Hydrocarbon)

	Option D: 
	NOx(Nitrogen Oxides)

	
	

	Q23.
	For which of the following engines a prony brake is used to measure brake power?

	Option A:
	single cylinder engine

	Option B:
	low speed engine

	Option C:
	low power engine

	Option D: 
	variable speed engine

	
	

	Q24. 
	CNG stand for

	Option A:
	Compressed Natural Gas

	Option B:
	Combustion Nature Gas

	Option C:
	Consume Natural Gas

	Option D: 
	Carbon Nature Gas

	
	

	Q25.
	In which engine 2 pistons are mechanically linked to obtain symmetric motion

	Option A:
	Petrol Engine

	Option B:
	Wankel Engine

	Option C:
	Free Piston Engine

	Option D: 
	Dual Engine
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